
  (800) 231-6666           (864) 272-4456      www.ballews.com 
       Toll Free                          Fax 

Stepdown Awnings

 



 



 

 

 

 

 

 

 

 

 

 

 

 





2” Stripes available in (13) colors



White-Rollform 1 1/4” x 3 5/8”

25-CLAY	 12 Ft. Clay Fringe .025



14-724I	 24 Ft. 1 1/2" Square Ivory	 20	 173
	 Tubing Extruded  .050



550-30X	 10” I Beam	 Aluminum	 White	 24'
				    30'

55-00WW	 Splice Kit for 10" I Beam		  Anodized

XX

XX

61-24XX

X

XX

XX

XX

7” I Beam

White
Ivory

2" x 7"  Self Mating Beam
24'

24'-30'Aluminum

BEAMS

BEAM SLICE KIT



Bronze
White
Ivory
Clay	 24’

Gray 
Black 
Clay

Ivory
Clr Anodized

065-24W	 6" .180 Smooth Post	 Aluminum	 White	 24' 1

99-HBRK	 Saddle Bracket	 Aluminum	 Mill
70-9170	 1 1/2” Overhead Bracket	 Aluminum	 Mill
70-3030	 3" Cast Brackets with ears	 Aluminum	 Mill
70-3031	 3" Cast Bracket no ears	 Aluminum	 Mill

XX

XX

XX

XX

XX

70-3006	 Chair Bracket for 3” Square Post	 Aluminum	 White
70-3007	 Chair Bracket for 3”		  Bronze
70-3008	 Chair Bracket for 3”		  Ivory
70-3009	 Chair Bracket for 4” Square Post		  Anodized

POSTS

10'
12'
14'
24'

24'



 
 

 

Stepdown                70-2011                   #6x3/8 Stainless Steel                               5000         Stainless        1/4 
  Screws                  70-2012                   #6x3/8 Stainless Steel                                1000        Stainless         1/4 
                                70-2022                  #10x3/4 Zinc                                              8000         Zinc               5/16 
                                70-2023                  #10x3/4 Zinc                                              1000         Zinc               5/16 
                                70-2033                  #12x1 1/2 Hex Head                                  3000         Zinc               5/16 
                                70-2034                  #12x1 1/2 Hex Head                                   300          Zinc               5/16 
                                70-2044                  #12x2 Hex Head                                        2000         Zinc               5/16 
                                70-2045                  #12x2 Hex Head                                          300         Zinc               5/16 
                                70-2055                  #10x2 Hex Head                                        1000         Zinc               1/4 
____________________________________________________________________________________________ 
Pan Unit                  47-90xx                 #8x1/2 Zip Screw                                        100          Colored           1/4 
                                                              white, ivory, bronze, brown, gray, 
                                                               green, terra cotta, black, clay 
                                70-2077                 #8x1/2 Zip Screw                                       1000         Bronze             1/4 
                                70-2088                 #8x1/2 Zip Screw                                       1000         White               1/4 
                                70-2099                 #8x1/2 Zip Screw                                       1000         Ivory                1/4 
                                70-2199                #8x1/2 Zip Screw                                        1000         Clay                 1/4 
                                70-2040                 #12x3/4 Hex Head (for ext. covers)            100          Stainless          5/16 
____________________________________________________________________________________________ 
Beam Screws          70-2067                 #12x3/4 Tek w/Neo Washer                       100          Zinc                  5/16 
                                70-2066                #12x3/4 Tek w/Neo Washer                       1000         Zinc                  5/16 
                                70-2000                3/8x3 1/2 Bolts/Washers                             Each        
                                70-1000                3/8x3/8 Bolts/Washers                                Each 
                                70-1010                3/8x4 1/2 Bolts/Washers                             Each 
____________________________________________________________________________________________ 
 Roofover Screws    70-2050                #8x3/4 Tek w/Neo Washer                           100         Zinc                  1/4 
                                70-2027               #10x1 1/2 Zip                                                100         White                1/4 
____________________________________________________________________________________________ 
Screen Room          47-95xx               #8x9/16 Tek Screw                                      100         Colored              1/4 
                                                            white, bronze, ivory, clay 
                                70-2085              #8x9/16 Tek Screw                                      1000         White                1/4 
                                70-2075              #8x9/16 Tek Screw                                      1000         Bronze              1/4 
                                70-2095              #8x9/16 Tek Screw                                      1000         Ivory                 1/4 
                                70-2195              #8x9/16 Tek Screw                                      1000         Clay                  1/4 
                                47-9865              #10x2 Zip Screw                                            100         White                1/4 
                                47-9863              #10x2 Zip Screw                                            100         Bronze              1/4 
                                47-9864              #10x2 Zip Screw                                            100         Ivory                 1/4 
                                70-2055              #10x2 Zip Screw                                          1000         White                1/4 
                                70-2053              #10x2 Zip Screw                                          1000         Bronze              1/4 
                                70-2054              #10x2 Zip Screw                                          1000         Ivory                 1/4 
                                70-2028              #10x3 Zip Screw                                            100         White 
                                47-9963              #10x3 Zip Screw                                            100         Bronze 
                                47-9964              #10x3 Zip Screw                                            100         Ivory 
                                70-2065              #10x3 Zip Screw                                           1000        White 
                                70-2063              #10x3 Zip Screw                                           1000        Bronze 

70-2064              #10x3 Zip Screw                                           1000        Ivory 
70-2029              #10x4 Zip Screw                                             100        White 
70-3075              #12x3/4 Tek Screw                                        1000        Bronze 5/16
70-3085              #12x3/4 Tek Screw                                        1000        White 5/16 

  1-800-231-6666             (864) 272-4456        www.ballews.com 
       Toll Free                           Fax 

  Item                     Item No.                         Description                                       Packed         Finish       Socket Size 

1/4
1/4
1/4
1/4
1/4
1/4
1/4



 
 
 

 
 
   Item Item No. Description Packed Finish Socket Size 
____________________________________________________________________________________________ 
     
Insulated Panel
    Screws

____________________________________________________________________________________________ 
 
Sunroom Screws 

____________________________________________________________________________________________ 
 
Miscellaneous

____________________________________________________________________________________________ 
 
Sockets

 
 

____________________________________________________________________________________________ 
 
Sealant

 
____________________________________________________________________________________________ 
 
Touch-up    
  Paint

 
 

 (800) 231-6666      (864) 272-4456     www.ballews.com 
   Toll free                          Fax 

70-2084 #14x4 Tek w/Neo Washer 25 Zinc 3/8
70-2080 1/4x4 Lag Bolt w/Washer 100 Zinc 1/4
70-2082 #14x5 Tek w/Neo Washer 100 Zinc 3/8
70-2027 #10x1 1/2 White Zip 100 White
47-95xx #8x9/16 Tek Screw 100 Colored
 white, ivory, bronze, clay 

70-2089 #8x5/8 Pan Tek 100 White
70-2090 #8x1 1/4 Pan Tek 100 White 
71-2089 #8x5/8 Pan Tek 100 Sandstone 
71-2090 #8x1 1/4 Pan Tek 100 Sandstone
70-7005 1/4x2 Drive Pins 100 Zinc 

70-1100 1/4x2 1/4 Tapcons 50 Bronze 
70-1101 1/4x2 1/4 Tapcons 50 White 

70-0103 1/4 Socket Each
70-0104 5/16 Socket Each
70-0105 3/8 Socket Each
70-0106 2” Extension Each
70-0107 4” Extension Each

70-0090 Permaseal 24 White
70-0101 Gutterseal 12 Clear
70-0102 Foam Header Tape 50 ft.
70-5015 4” Peal & Seal Tape 33 ft. White

70-WHTE Touch-up Paint Each White Enamel
70-BROZ Touch-up Paint Each Bronze Enamel
70-IVOY Touch-up Paint Each Ivory Enamel
70-BLCK Touch-up Paint Each Black Enamel
70-CLAY Touch-up Paint Each Clay Enamel 
70-GRAY Touch-up Paint Each Gray Enamel
70-BROW Touch-up Paint Each Brown Enamel



CUSTOMER NOTES




